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It has max and Laron — MT9IN NIaR 7792 NONYT

OVERVIEW

The X7m3 states that the term 9173 995 is used, only when we are discussing
such M>2%77 in which there are both NMaR and N1791n, therefore we can consider
it a 7173 992, by wyn however there are no M721M Max, therefore we do not
use the term 7173 H95. Our M9OIN resolves several issues that seem to
contradict this answer.

mooIn anticipates a difficulty:
= NN TONX MAN NPPAY 23) (3,2 97 JOP TYINA 9INT XaA9D 199N

And even according to 839, who states in jJup T¥% '0n that concerning the
laws of nsysaw, the Torah prohibits only the n1aR, however —
— NIINI YON NI TN

The Torah did not prohibit the n1791n, so how does the x7»3 state that by (naw
and) nvaw the laws include both nar and MT7IN.

mooin replies:
— M MAN N2 X NI D299 0PN Yon
Nevertheless at least J1297» there is a prohibition both against nax and

MT9IN; therefore we can use the term 9173 %93, as opposed to Iwyn, where seemingly
there are no M0 (which are 2> in WYn) even 132777,

Now that we say that even something which is 0K only 1312777 is consider a 17710,
therefore Mdon asks: How can you say that by 2wy there are no M721M MR

— TN MAN ) NN TYUYNI 9NN ON)

And if you will say, by =wy» there are also n17%3 nIaN -
— 99519 D5 19299199 9N WIVN )T RNMIINTNY
for according to Torah law, only grain, (olive) oil, and (grape) wine, are

required to be tithed, and by Rabbinic decree all types of produce require
tithing, so seemingly there is no difference between n°¥°2w and “wyn, because they both
have m721n (only) 112777

mooIn responds:

" See max 7°2 n°X 7"7 >"w for an explanation as to what are the M72101 Max by (n2w and) Ny*aw.
? See “Thinking it over’.
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— MONDN NUINX N2 5P57 595102 MTIIN MAN 9ITND TV RIT 99D U
And one may say, that it is not appropriate to mention the terms of n2ax

mMT9IM concerning issues where there are no prohibitions of work®, as in
awyn, where the purported m77n are different types of produce which are not related to
the produce that requires tithing RXn>7X772, as opposed to nNaw and n°y°aw, where the
mTn are derivatives of the My, that they perform a task similar to that of the max
NRM.

mooin asks: If the criterion for stating 2173 993, is that there are M771M Max, then —

- 4N}:)’\9 INM DT DD 1) 235D HYYAYI NAYT NN YD) 9NN ON)
And if you will say, regarding the other %2> of naw and n°y>aw, where the
TIwn states "R AR 995 T, let it state there as well ®17x B9, for this

very same reason, that we are discussing a %75 which has m721m max. What
difference is there between the first 973, and the one following it?

N1B0IN answers:
— IND NP 9112 YIINT 23NY 7098 NYT 1Y Y
And one may say, that it is not necessary to repeat the term 9173 593 for
when the mwn states for a second time 992, it is referring to the first %>
®373 that was stated originally
— Y9N NN 9T Y95 Y MNP S
And this is how we should read the second %7>: “they said another %>

’7173”, i.e. that when the miwn states IR X 925 T, it is as if it said; “and they said
another 2173 5957, but the mwn felt it was not necessary to repeat the term 173 again’.

? The 'on7 *w1on have a difficulty with this statement, for we find Mm7210 Max by 2°van P11 even though
they are not max?» MoK. It also seems difficult to understand the reasoning of 'own, that only by T0°R
MIRD7 is it fit to say M77301 Max. The interpretation suggested here, is that concerning these three matters,
qwYm ,NPYNaw ,naw, it is not appropriate to use the terms M7 Max, for 2wyn since it is not dealing with
MORY1 MIO°R, meaning that we cannot categorize the various M721n of 7w to their respective NIy, as we
can categorize the various M721n of MY awY Naw to their respective Max, because by Wwyn it is just one
general 5"1n1 n7°1a that all produce (generally) are Twyna 2>n, as opposed to Ny 2w naw where we relegate
specific N172I0 to specific MaR. See 2 wIvN T, TIRT R"WIID ,2707 PWH. However 3"9X 173,

* It is apparent that Mo maintains that when ax 12 °0v " answered 191 M721M M2x, (even though the
X713 does not state X2X, nevertheless) he negated the initial answer of 2nX 993 *1n% *yap7 0w (and there is
only one requirement to state 2173 973; namely m77101 M2y, but not two requirements { MR 275 N7 WaRT
and MTSIN MAR 172 NoKRT).

> The 2" explains that the reason why in n°v>aw 'on, we do find that he says 173 995 again after he said
9173 993 a previous time (see a0 1"7 '0n); for when does mioIn say that it is not necessary to repeat the
term 2173 993, when the second 973 closely follows the fist 973, however in ny»aw when he repeated the
term 2173 973, that was in a different p19. See R"w nn for another explanation.
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SUMMARY

a. By nv»aw the M0°K concerning MK MaX is 7107 11 and the Mo°R for
MmN is 132777,

b. It is inappropriate to consider the N17%0 that are 12777 IWYM12 21 as being
M0 of those N7°0 that are RNIRTA WYNR2A 20707,

c. The term "X 592 1R 71" is a continuation of the original 7173 975 that
was stated, and therefore it too is a 17 9.

THINKING IT OVER
How else could we answer maoin second question® (concerning 1wyn)?’

6 See footnote # 2.
" See o"nn.
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